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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 5.48 6838 | =nst | ooo ~ 000\ 1.75 8.84 st 1.00 | 6.00 ~ 6.00 6838 | =nhst | 5.00 ~ 6.00)| 1.75 8.84
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEBZD ~
s 1.00 | 0.00 ~ 627 7881 | Ens | ooo ~ 627 1.86 9.38 st 1.00 | 6.00 ~ 7.50 7881 | ThSY | .00 ~ 7.50)| 1.86 9.38
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 627 78.80 | EnLs | ooo ~ 627 1.86 9.38 st 1.00 | 6.00 ~ 7.50 7880 | ThLSY | 5.00 ~ 7.50)| 1.86 9.38
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ Fhst ~ Fhst ~ st ~
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 717 91.16 | #nS | 000 ~ 7.17| 1.86 941 st 1.00 | 6.00 ~ 9.30 91.16 | =n4 | 5.00 ~ 9.30| 1.86 941
P 100kN/mi#E#82% | 1.00|0.00 ~ 110 116.563 |3m%E#BZ 5 ~ -] 100kN/mZ#8z5 | 1.00 | 1053 ~ 1390 116.63 |3mZE#BZ5 ~
s 1.00 | 110 ~ 888 100.00 | =nhst | ooo ~ 888|220 11.10 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1390 2.20 11.10
- 100kN/m%E#2% | 1.00 | 000 ~ 110 116.563 |3m%E#BZ5 ~ -] 100kN/mZ#8z% | 1.00 | 1053 ~ 1390 116.63 |3mZE#BZ5 ~
s 1.00 | 110 ~ 888 100.00 | =nhst | ooo ~ 888|220 11.10 st 1.00 | 6.00 ~ 1053 100.00 | =hst | .00 ~ 1390 2.20 11.10
P 100kN/mM##Bx5 | 1.00 | 0.00 ~ 051 107.51 |3m%E#BZ 5 ~ -] 100kN/ %825 | 1.00 | 1069 ~ 1220 10751 |3mE#BZ% ~
s 1.00 | 051 ~ 829 100.00 | #nlst | 000 ~ 829 | 2.10 10.63 st 1.00 | 6.00 ~ 10.69 100.00 | =hst | 6.00 ~ 1220| 2.10 10.63
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 717 91.16 | =N | 000 ~ 717\ 1.86 941 st 1.00 | 5.00 ~ 9.30 91.16 | =h4t | 5.00 ~ 9.30| 1.86 941
10 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ b5.59 69.81 | FnLSY | 000 ~ 559 | 1.87 9.44 st 1.00 | 6.00 ~ 6.40 69.81 | =nhst | 5.00 ~ 6.40)| 1.87 944
11 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 4.76 59.32 | #nS | 000 ~ 0.00| 1.77 8.94 st 1.00 | 6.00 ~ 5.00 59.32 | =hLS | 5.00 ~ 5.00| 1.77 8.94
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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